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U[9uLgIt1

!n4p'pum
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9bdurtr dtt
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t'tunqn/
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CL4uLIbLp

6ufuubpp /rlnurd/
PuLtu!p

nbnnnrutB
3369122s PbLqnlul q< rlbqtuhtup 56 67200 1200

33641413 nbpuurtlbrnurqnlt q< udu.lnLlur 186.7 373400 2000

33651111 Urlopuhghhtr q< rbnurrutuurht 640 358400 560

33611350 Uu!urp pfttru ppnL /.{ir rn ur dhL C/ q< urdunLtu 51.84 51 840 1 000

33611341 -l-hmudhL 81 q< udqnLluu 19 28500 1500

33611341 .lf rnudftr 86 Y{\ udqnLlut 16.9 1 6900 1 000

33651118 Sb$LnpIurpunb /gb$LnpIutpunL / *< uJutlntlur 260 26000 100

33661127 Utrulqfrtr un{urU 50% 2 [1 q< udunLlur 31.5 7875 250

24311360 l-ruunpirnLd[r Ptnnh4
q< t.hrpbp 2J 37s0 '150

350MZO PnnrJhbBuhtr q< nbnurhup 30 9000 300

33621330 9np4[urlfrtt .+< urjunLlur 110 33000 300

33600000 FhubulLnnt q< 4bquhurp 3 4500 1500

33691201 9urmtlrufunmh nqbBnLnd q< 4bquhup 140 21 000 150

33661128 9unpurrJurqbqhtt q< qbrluhurp 13 143000 11000

33671130 rI[d[4pn1 q< unqurtl 29.4 I 76400 6000

33651149 L[ruLnunfir -(. qbrluhurp 221.2 553000 2500

33661139 (u1nu1pJt1 q< udqnLtur 95 665000 7000

33691195 t-tqulbqmflt q< 4brluhup 40 1 00000 2500

33691197 Ltrndbqpnduqfitr q< 4brlurhup 24 60000 2500

33661139 (rutnulbnhnnt q< qbnuhup 12 57600 4800

33691194 Snh$rnuqhtr q< 4bquhup 5.3 63600 12000

33661134 3[!1u4n1 q< rybrluhnrp 6 92160 15360

33600000 $btrur4fruqbqfitt q< 4brluht-up 12 90000 7500

33661137 Lnnurqbuurd q< 4bqtuhutp t3 46800 3600

33661136 rllruqbqud q< nbnuhutp r0 36000 3600

33600000 Udhtiuqhtr T( un{utl 75 225000 3000



33661135 Uf puqnlt q< un{ut{ 71 149',100 2100

33600000 l.In4[mbb 4bqn
q< un{utl 810 121500 t50

33691196 fliruqbpf 4ntt
q< 4bqruhup 80 480000 6000

33691196 n 'fruqbpf 4ntt
q< 4brlurhtup 80 480000 6000

33631260 3nnh 5% uuthnmurthtr lnL6nqp 30d1 q< un{urt{ 250 75000 300

33661139 (urrnubnhnnt 'l rjt q< uirJLu 9B 980000 1 0000

33661139 (urnrubnhnnt 5 rjq g< ilh 11.5 425500 37000

33661139 (urrnubnhnnt nbUrutrnuun 5 dt q< urlu 900 90000 100

33691197 Ltrnrlbqpnduqirtr 25dq 1 d1
q< udq 207.27 207270 1 000

33691197 Lbnrjbrunndruqhtr 25 dq q< r/h 26.04 343728 I 3200

33661136 rlhuqbu.tud 1 rJt
q< uuq 71.5 858000 r2000

33661136 lhurqburxd lOUc q< hruF 8.5 170000 20000

33691176
Ppndr1hhhrlpnp[nnn-

$btr h r nblrq n nh urq bru htt

q<
'vh

10
200000

20000

33691176 Spfr$lnrnqbpuq[L 5 ilq q< ilh 5.3 159000 30000

33661137 Lnpurqbqrud 2 rlq q< r/h 13.8 414000 30000

33691176 grnquuhL 100 dq q< r/h 38.04 380400 10000

33691176

$1n L$btr ruqfrtr ($1n $bL uq[L ft

4b!rutrnurrn) 
'ld1

g< uidti1 900
45000

50

33661161 OrruLquqhtr 10dq q< 4/h 168 84000 500

33691176 Snhhbpuh$btrhnhr 2dq +< n.n 6.5 195000 30000

33621340
In$hfrtr LruLnplrnulfr pbbqnu.rm 200dq 1d1 q< udu{ 50

150000
3000

33661142 LlLlfrurpfrqunIf L 25dq q< r/h 9 180000 20000

33691176 SlnLLlopurudfL 100dq q< r/h 518.95 25947.5 50

33691176 Unuruhnhn 100dq q< dh 150 75000 500

33661128 \ uppur rltrqbu.lhb 200 dq q< r/h 10.5 1 05000 1 0000

33691127 FbLqnpupp[mur1 |00dq q< r/h 19.3 34740 r 800

33611370 l-dhudhtrh prnnhn 50dq 1dt q< urdu{ 20 1 0000 s00

33611390 alhnhnoBuhtr 50tlq 1d1
q< urJrq 20 1 0000 500

33611350 Uu!nppfrtruppnt 50dq 1 d1 q< urUq 30 15000 500

33611350 UuUnnphtrurBBnL 50riq q< qnurdb 13 6500 500

33691176 Ubr"nurlhqnt 500rjq q< nih 5.5 11000 2000

33691176 Llbrnrrdhqnt 500rjc 2LIr
q< rurjut 30 15000 500

33621240 Shrutrntrnnu.rrudhU 0.5rlc 1 dr q< uidu4 20 I 0000 500

33611341

G[rurlfrtr (pfrud[UI h[4pnp1np[4),

nfr pn$1u {irtr (nfr pn$1u Ll[L it

tr ur r.n p lr n Ld ur ! urtr $ n u $ ur rn ), q 
Jr 

p fr 4op u f tt

(qhnh+opuhUh hh4pnPlnP|trI),

trfr!nrn[Lud[a

q< udt4 127.8
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33611341

fdfrurrlf L (p[ud[bI LIupum),
nf pn$1u{ftr, qf p[4opulttr

(Lrlhnh+opuhtrfr h[4pnp1np[4),

L[!nmfLudf 4

q< r/h 20

20000

1000

33621230 $nrluaonL SLIq q< r/h 5.7 5700 1000

33691176

r}|trud[L (p]tud[UI h[4pnp1npf 4),
rqh phaopuf'L (u{hp f' aopu f'L fi
hhnnnprnnhn). qhuitrnljnput u dhtt

q< udq s30
105470

199

33691176
bn!rp (lll)-hlt4popufr4f 4bpumputtulfttt

hurdruthn
q< uLIu{ 557

55700
r00

33691176
bnluph (lll) hhapopuhrlh tr

unrhdurmnqh hurrjurhn
q< r/h burdblnL 86.7

2601 0
300

33651145 nbouurrlbaurontr 4rjq 1dt q< urJut 70 7000 100

33621710 UmbLnrnr 50dc g< r/h 3 3000 1 000

33671126 FpnLlhbpufrb Bdq q< r/h 4 4000 1 000

33671136 *rurnrqhL l25dr q< 22nu 500 50000 100

33691176 FbLnuonr 5dr q< udq 50 40000 800

33621540 ahuulur{bphU 2d1 q< urrlul 100 80000 800

3362151 0 9ruqrnnqpfrl 50dq q< r/h 12 12000 1 000

33661122 ,rlrupuqbr"nu.rrlnl 500dq q< r/h 6 30000 5000

3369't176
Ug bunfr 1uur firg fr1u ppn L, durqtrbqfrnLdfr

hhnnopuhn 150dc
q< r/h 26

52000
2000

336111 00 0rlbqptuqnl 20rlq q< r/h IJ 45000 3000

33691145 [JruoLbqhntdh unu$uLn 250rJq 5dt q< udrq 33 33000 r 000

33691138 nbpunpnq 40% q< udq 30 15000 s00

33691138 rlbpumpnq 5% q< fupbp 280 140000 500

33691136 Lrur.npfinLrlfr p1np4 Suq dd1 q< urlu.l 30 30000
1 000

33691136 l".,urnnhnLdh prnnn 0.9% 500rjt q< {urpbp 280 140000 500

33691176 0pn!u1[b 5dq 2d1 q< uJrJul 20 20000 1 000

33651111 LldopuhohrhL 500tlq q< ry'u 22 88000 4000

33651150 SlnLl.4ntrruqnl 150dq g< r/h 65 65000 1 000

33691176
Ugbrnfrluufrgfrlu ppnt, q ru p urgbLn urdn 1,

Ln$bhtr
q< r/h 7

17500
2500

33691176 hpnLqpn$btt 200dq q< r/h 9 22500 2500

33691176
$btr n puppfrmur 1, bnh Fnntl[qn{u1bpI u-

LruopnL 50dr
q< 22F\ 6s0

65000
100

33691176
.l.,'htrbBurdhn 

2tlr q< rurft.rt 130 39000 300

33621290 hruhbb$nhL 1.B2rJq 1dr q< rldru 60 3000 50

3361t130 Uunnnulhtrh unu$uLn q< uUul 55 2750 50

33691200 Ubtrnqhntrbn A, B 70dq q< n/h 6 9000 1500

3362 590 $nrnnubdhn 10do 2dr q< urrju 420 21 000 50

3362 s90 bnmnubdhn 40da q< q/h 4 1600 400

33611200 [nubnurrjhn 2rjc q< dh 20 4000 200

33691176 Pfruurln4fr1 1Odq q< dnd[Qtrbp 9 4500 500
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33611170 npnmur{bpfrtr 40dq 2d1 q< urju 63 1 8900 300

33611170 nnnr.nurlbnhl 40dq q< rvh 10 10000 1000

33691176 9lnurpfrrJuqnl 15q q< puntp 190 1900 10

33691176 Prnnrurl$btrhtrnr 0.'l dq 25q q< h/BunrB 430 4300 10

33691176 (hnnnLnnmhonL 1Odq. 10c q< ounto 230 2300 10

33691176 9lripbtnurqnl 0.5dq 25q q< ounro 900 9000 10

33691176
$bL[ffi pfrtr ($bL [1f$pltbh hhapnplnphr])

1dt
q< udu.l 1't0

11000
100

33621100 (buunhtr 5dt q< und 1400 21000 t3

336211 00
(bqur pfrtr, pbLqn !ur1[b, pbltqh t
trhtrnmhLrur.n

q< ounro 500
5000

10

33631300 9btnnqnn$bl 2dt q< uuLIut 300 18000 60

33691176 urlfLn$f fL 24dq 5d1 q< urdu{ 60 6000 100

33691176
tJbLnnqpnlnl (rlbrnnqpnlnf nupmpum)
25dq

q< r/h 23
4600

200

33631 31 0 rlhUrn$bLurtr 25dc 3dr q< urtltu 110 11000 100

33691176
U nr1$rudbpopu uqnt, tn pIdbpnqpId
4B0dc

q< 4ih 50
1 0000

200

33691178
Uopu[gfrtr !uplr lulbp ru p!duL lnL6nqp

400do 250 dt
q< rhu.,pbt 4140

41400
r0

33671113
UurpnLrnudnl (urupnLmuudnf untl$uun)

100dt1q 200 4brlulutlp
q< gnrlug|tn

2trlurnu!rutr
rs00

15000
10

33651118 Sb$mpflupunL 1q q< unq 360 72000 200

33631 1 1 0 Uhumurmhtr 500000uU q< r/h 10 3000 300

33691176 th$btrhhnnrudhl 50dq q< 4/h 10 r0000 1 000

33691176 nfi$bLhfraprudfiL 1Odg 1 d1 q< ulrJul 18 17982 999

33691176 Uprnfrlu1Jttt | :1 00000 q< urdul 1600 40000 25

33661117 gurnrlufu nr.nh nqbBnLnrJ 200dq 30dt q< ??nu 200 20000 100

33631260 3nnh 5% uruhntnuuthb tnLdnuB 30rJt q< ??hl) 200 63000 315

Ctrnrudbbn nbnnnuJB 11615522.5

Fdrtr u U urt u ru nBur {n n n rfh bp, qn pdhptr b p tr u1 ru p ruqrutr bp

33141117 lFurrlpruU 100q q< hurm 200 120000 600

33751100 l$u.'Uahrr N16 q< hurtn 300 600000 2000

33141142 ll-.,bnunUhr 5dq q< num 15 90000 6000

33141117 lFurrlpuU 100c q< huun 190 95000 500

33141110 lFhtrun 7.14 q< hutn 84.5 42250 500

33141178 l(urdurUurnctnurUurqd +< hurm 50 25000 500

33141111 lUurbnrutrh N 1019x72rjd q< hurrn 4.25 2550 600

33141129 lrlhdutr q< huun 12 12000 1000

33141159 ltbntrno turmbou M q< hum 14.98 14980 1000

33141 59 l0bntrnq rururbpu L q< hum 14.98 14980 1 000

33141159 ltbnLno rultnbou S q< huLn 14.98 149B0 1000

3314 59 lObnlrno turrnbpu XL q< hrrtn r4.98 r4980 1 000

33141142 lLbnurnUhr 2dq q< nuLn 13.9 150120 10800

3314 42 ll.;bnunUhl3dq q< hum 14.49 72450 s000

33141142 lLbnunUhr 5dq q< nuLn 14 14000 1000
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33141142 LbnunUhl lOdq. g< nurn 20 20000 1 000
33141142 LbnurnLhl 20dq q< hrrr,n 33 9900 300
33751100 SUU+hn tlbburhuruurlLbpfi L g< hurn 286 144430 505

33751100 SuUnhn rjb6urhriruutrtrbnh XL q< huu 323 161500 500

33771200 tJhpurlhn q< nurn 37 37000 1 000
33141143 UUurnhbhtrunnn q< hruun 4 20000 5000
38411200 Qbndurlurrh q< huun 260 26000 100

33200000 cn6UnrquUh l15K15l q< mnufr 270 4590 17

33141100 *ttnrUnrlbmnh umnhur q< hum 9B 14700 150

33200000 UnunUrutuUutr uurutrh N 50 q< mnrqh 5000 10000 2

33141130 Jboh utrurhoh nuurntr 100 dr q< hulm 48 48000 1 000
33191320 Inrbrh ulhqbLn q< hutn 30 1 500 50

39511130
U utlutr df utrqudl u oqmuqn pddurtr

58x90
q< hum 187 18700 r00

33r41111 9qlnn duqut]bL Umnnhq 2,5"5 q< hur"n 100 1 0000 100

Cb4udbbp pd2[u[rut qunuqu 1809610
P[d[u!ub trlnrpbp
24451.$0 PLnnnIh0 uu Uq 2400 96000 40

24311300 lnuujpu plnn UU qq 3000 60000 20

Chnutilhtrn €hrihutr uh trrrl.Bhn 156000

Ubb4ufpbpp
1511 11 1 0 uhu uruUrunh unbnruLutr fiurrlnLtr q< Uq 2800 4200000 1500

15111110 Uhu urruilunh rnbnuUuuL nuUnnnm q< Uq 2500 3750000 1500

15112160 Uhu huUh rnbnurUurtr q< Uq 1230 738000 600

15530000 9urpuq, ubpnrgpnrlfLr q<
Uq 3485 2613750 750

15421100
Up htu6urlQI d bp, nur$ftb urg {ur6,
(qrnur6)

q<
t

575 862500 1500

15811110 (urg hpuq4utr q< t{c} 300 7500000 25000

15810000 tutlnpbqbtr c< Uq 1 900 11400000 6000

031421 00 l.Ibrp, pbur!utr q<
Uq 3480 2088000 600

15842110 9nL$bm/2nQn1uq c< Uq 1190 83300 70
't5332140 tuLdnp, d[2fL lurqhfr q< uq 290 232000 800
r5332192 Utrtr4nrpfrtr q< uq 490 1 07800 220
r5332410 ?np dfpq q< Uc 2450 1 71 500 70
03222113 ?rurIfrl q< Uq

'r400 42000 30
15321 000 U urunrnfi hlnrB >a 420 420000 1 000
r5331152 UIubn q< tlq 1 090 654000 600
03211300 Ppfltd q< Uc 328 524800 1600
15617000 UnnEUudruLlurn q< Uq 230 1 61 000 700
15619000 (tu6upnrdrur{tup q< Uq 280 308000 1100

15613350 elupuu11urdurt{up g< Uq 420 462000 1100

3211900 UulFuluqurdurr{r.lrn q< trc 330 264000 800
15616000 (Lq!ntdurt{rup q< uq 445 489500 1100
15331153 uul q< uq 675 675000 1 000
15331154 llnn, uUpnngutlrutt q< Uq 370 407000 1100
15331154 lnpf humft4ru{np q< Uq 1 095 547500 500
15851200 lJtr!upnLbrlbtr q< Uc 268 375200 1400
15612180 uunn q< Uq 220 15400 70
15551600 [JudnLL, qnqh quphg q< uq 350 770000 2200
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15540000 'luUhn /tnnh/ q< Uq 1590 508800 320

15511600 ilGurqnu.r6Trup q< Uq 840 302400 360

15511200 9ruB q< thtnn 318 667800 2100

03142510 tnr, 01 [4upq q< huLn 53 397500 7500

15863200 flbr q< Uq 3500 280000 80

15831000 Supurpru{uq g< Uq 400 1000000 2500

15872400 tln, lbnuutlnh, dultp q< Uc 155 36425 235

03221410 trurqurdp, drupprub q< trc r20 840000 7000

15331164 $urqup q< Uq 345 2070000 6000

15313000 9rupnn$[1 q< Uc 115 1 61 0000 14000

03221122 +rldhtl q< qq 120 240000 2000

15331168 Udpnrtr q< trc 150 120000 800

15331139 l-nLhLr q< trc 220 209000 950

15331171 Sup4bry Brurpn
q< Uq 150 120000 800

15331161 Untu, qnLfu q< Uq 280 280000 1 000

15331167 .rululh, fuunn q< Uuru 120 66000 550

15331163 6urltr4bq, updu r"n uq m n Lr1
q< qq 120 840000 7000

1 5331 1 74 Lbln q< qq 600 300000 500

15333100 Sndurmfr rlur8nrtl >/ Uq 580 214600 ?7n

15542100 9rupltu2nn q< r.lcl 1240 620000 500

15510000 f-dp{uubp, unbqulutr q< ucl 890 534000 600

15871256 Unurqrub qqulbrl q< Uq r200 6000 5

15872310 lur.htrbrnbntr, 1n purg p ub q< Uq 1900 5700 3

1513t630 Surlunh duh qruhurdn g< Uq 1350 1 620000 1200

15841100 -tuhun q< !q 2500 25000 r0

15332290 lbd q< Uq 795 516750 650

15890000 -rurLurlf 1np
q< Uq 2500 25000 | 10

15890000 (urrjbdnrtrB fu rlbp I u nLbbft q< Uq 1500 1 0500 7

15872600 Jnnu q< t.tq 400 2000 5

15898000 furJnnhl q< Uq 2200 11000 5

3220000 LluunLp q< Uq 700 280000 400

3222100 U[pq puttutt q< Uq 7s0 150000 200

3311112 3nrt1 q< llq 2300 345000 150

15332191 UunhUp q< Uq 640 192000 300

15331490 rftunhLruqrluD dunnLUq q< qq 580 69600 120

3221124 dunnLLq
q< Llq 150 45000 300

15211110 dlrutr u4u:hurbn, lnLqfr db9 r.nuqrultub q< qq 2000 400000 200

Ctrnullhhn UtrL4urilphpp 54822325

Cfr0tuOlnrp

31711250 funrtn{ulh UtuthnUn UU huun 6000 12000 z

44531160 llunqudnnbfr ulurntmuQ UU hum 4000 4000

44531160 Lunoudnnbth umntLntlLt UU hurun 3000 3000

44531160 U ulnqud n nblh ulmntrnul[.,1 rJu hum 6000 6000 1

44511371 urnhnhhnh hullurpurbnt( n a6op xn ouefi ) ttu hrur"n 32000 32000 I

44511370 !n2tnurgntgirltrbpI hurr{upur6n(na6op

oreeonox)

rJu huLn
6000 6000 1

44423600 bnLil UU hum 100 1 000 10

44423600 bntd r.Ju num 350 3500 10

t
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30192200 Jbmn uu htrm 2300 4600 2
31221280 bnUunuqrJuL rurn tiu htum 32000 32000
43121190 h nprumdurtr hur.l ruBru&nL r.tu hum 8000 8000
24911200 tdnrtuhru r.Ju hurLn 5000 10000 az
44192200 ubtu r.Iu uo 700 700
44531160 u{mnrunuLl uu urnui 3000 6000 z
18811120 flbLnhLb llnzhUtrbn r.Ju hurul 3500 14000 4
31521570 Luqunbp ttu huLn 18000 36000 2

44521170 9nqqbp r.tu hurLn 1500 15000 r0
44521170 \nqr4hp rJu huum 4500 27000 6
44521170 9nrlqbp rJu hum 5000 20000 4
44521170 \nqqbp rJu hum 3000 3000 r0
42130000 Unnull uu hu.rur 4500 45000 10
42130001 Uh$ntt tJu hum 2500 25000 10
44161230 9n$nb r.tu huun 1000 10000 10
4441 0000 2nto. nursnbh ulbfu uLhorJ r.tu hurLn 4000 20000
44511220 $bnutrnh rJu hurun 5660 5660 1

44511200 Unnq uu hurm 2500 5000 z
44511190 9urqhtr Lru hum 5000 s000 1

4451 t110 Fruh riu nulm 1700 17000 10
31681900 4nbl r.Ju nuiLn 42000 42000 1

44511170 elstu r.tu NUJLN 1500 7500 10
44511140 Prnttro rJu hum 3500 7000 2
31680000 hhltnn qnn6hB(pnrqurnUu) r.Ju hur"n 28000 28000 I
441 92600 hbq;nLu 10 drJ -nq r.Ju nui[n 108 3,024 2B
3971 51 00 urupugnrgfit 3 tf{ uu hum 6000 72,000 l2
24951130 ufrft!ntr r.tu hurm 1000 2,000 2
3431 11 90 nbm[Lb dhqunhn rJu thum 5000 10,000 az
4471t449 Ib!nrufr2 0bnnhn0bn rJu huum 300 1500 q

+4792600 rllnrFht ttu mnLqh 2000 2000 I

39240000 l{unnl pur;t r.tu mnLfi 3500 3500 I

Ct4urilhhp 2hhurlrrnr-p 340,324
Str ur buurQub u ruh h frqbtrhq L rrlusBh dhtnqtr bn
39836000 lllbr rJu hurLn 800 24000 30
39837000 Sufurudbr r.tu hum 2500 25000 10
18141'100 lbntrnq r.tu hrrtn 350 r7500 50
1 9641 000 9nqnuLl u/nph r.Iu hun 750 1 8750 25
r8930000 alr.untl uu nulm 90 9000 100
42415220 ututtr.ul.t uu nurm 15000 30000 2
39515400 2bnmudunuo.nun r.tu d 6000 78000 13
39831244 06urn, tntr urburu L urtr uu hrum 200 100,000 500
33761000 ?nLrya qnLqurpruLfr rJu nulm 90 72,000 800
39831270 uqnr0q uu nuJn 350 3,s00 10
39831270 uqnL0q r.tu hutn 3s0 3,500 10
39831272 uqnr0q, udur0 1t{ru0u1nr rJu hum 500 10,000 20
39831272 uqnr0q, udu.r0 p{ur0ur1nr Lru NUJLN 350 10,500 30
39831272 uqnL0q, udu0 plur0rulnr r.tu num 200 10,000 50
33761400 pqpb u0dbnnghLl0bp r.Ju hum 1870 9,350
39221480 qnrqupur0[ [unqu0urLl 0bp uu hurm 1 000 25"000 25

t
rl





39221390 quLnunupun0bn rJu 6 hurrn 2750 5500 1

39241100 4u0ur!0bp rJu 6 hurrn 3400 3400 1

3922r130 pudruLl0bp uu 10 hrum 575 5750 10

39221260 ul"hub0bp r.tu 10 hurrn 540 5400 10

39221260 r.urlrub0bn uu 10 hun 550 5500 10

3922t360 u004[ ullnrmb'10bp r.tu t hum 2370 2370

3922t360 u004fr u!nrmbq0bp rJu t hum 2000 2000

Cbnrudbtr n rnbrnbuuL rub 910,650
.{runblhB

09132200

09134200

09411700

FbLqhtr nbqnrrrun q< 370 1,198,800 3240

nhqbrurrhL dunbrhp q< 340 680,000 2000

Ubqtl{u6 ptruluL quq uu d/fu 220 700,000 3180

Cb4rurlbtrp {runbftp 2,57U,800

(rurlruIrupqlrulfrb L qrurn6bbruhrubrlurtr uruppur[npnrrltrhp Lr odurb4ruI trlnrpbp

30232110 [uuqbnurthti mqhl r.Ju nnud 55000 110,000 2

30211190 (rurJurUrunqhl Lru qnuid 170000 680,000 4

Cb4udbhp 790,000

Uilrnnruruhbuuudruubn
34331300 Ur] mnq uhbutn ru druubn UU nnurrJ 500000 500.000 1

32333300 Url urntlhphhurth mhuurd,urtburcnhl t_,-u huuun 48000 4B0iJ0 1

Cb4udbbp 548,000

9nbtrurtrrutt hnnrlpbhn [r qnuuhbruburhL trrnrphn

30192700
9phLtuluL qfitnnqplbp tr

qnuubLr uUur rhtr tr rnLBbn
rJu qnuid 803000 803. (r 00

30140000 ( r[ [J uunp rJu hr.ur,n 150000 150,ir00

22451280 Uhonqundutr r.nndu r.Ju hum 1000 532,000 532

Chnudbbn 1,485,000

Qnuuhhrut urrhh tr t ttrqunurrhh Lurhntrp
39130000 Qnuruhhurb urrhh b urhmt p rJu hrrm 650,000 650,000

39111180
rupnn qpruubttlrulur1frL, rlbururyur

UurnLuund
r.Ju hum r50000 150 r'c0

1

35821400 nnnu 0bn rJu hum 14000 14Ci)C 1

CtrnwrJbtrn 814,r t0
[rlurumubpfubn
22821000 SuurqnnrFtnrtt r.tu nnud 800000 800000 1

22811110 fhnnthurnurhh qhnp uu hu.rm 1900 90tl110 50

228rrrto Qhnnrhurnurhh qhnp rJu hurm 2100 ll[r:,0 10

45III240
SEuurlugFltlrhFF tuLqui u n u uulou uju

rzfurlmu0p0bn
rJu

rynurd 350000 35C ) r)0 1

CbnurJhtrn 1261 U00

Urunulnrplnrbhhp
6531 1 1 00 ErbUmnubttbnqhtu uu 4nud 2E+07 200r )00 1

65211100 FttuUutr euq rJu nnurd 1.7E+07 1700i:i)00 1

642111 00 $fiputlu6 hbnurfu n u ut1 urq uu nnurd 1650000 1650r)00

65111100
Qpuduu ruQur p up dutr tr gp ruhbnrugdtutr

6u.rnurnrarnrtr
r.tu 4nurd 9000000 900r )00

t
i*-



72410000 htltnbntrbmurrhtr Uuruh mnudurnnntd r.tu 4nud 350000 350000 I

90s21320
Fd2!u!uL pruf ntrtrbpfr

rn bnur rhnfunrHurl 6ur nu tn Ltat n Ltr
uu +nurd 250000 250000 1

90921 1 00 rlbnul 
rn frqur g fr ntl 6ru nrl I n LB1 n LL rJu 4nurd 8s0000 850000 1

66577770

Sprutruq n p r.nrulfrtr Llfigngtr bpI
uulruhndrucnnrralnrL

rJu 4nuid 270000 270000 1

5011t130
Sputruqn p Lnurlirtr rJhgngtlbph

mbfuLhUuUub uuuuurnLnLrJ
g< 4nud 2200000 2200000 1

85121120 Pn durrfu urnnntrbn h nn rdotrtr n rd uu 4nurd 300000 300000 1

98310000 Ltlu, gph tr durpp tftutr 8u nurl n Lp.; n rtrtr bp q<
Uq 200 3000000 15000

98341140 0 u hb n p qur ! ultr 6ur nu1 n Lpl n ttr q< qnuid 5000000 5000000 1

9251 1 11 0 UnluhLlurqnrd rJu 4nud 500000 5001)00 1

92421100
[f urrJnLln rd hurpnur p up n Lp1 n Ltrtr bp fr

hpuqurpu!nLd
uu 4nurd 96000 96000 1

s0800000
Pd2luQuL uuppur{npnLdtrbpfr

uu.luruurnLlnrd
r.tu 4nurd 200000 200r00 1

79211100 (ru2{ruq uhru U rutr 6rl nru 1n LBln LL[rbp rJu 4nurd 600000 600i,00 1

792It270
hur2rluquhurQtl0 rlbpruhuL4nqn Lplur0

6unur1nr91nL00bp rJu 4nurLI u40a 1,1 i )0 1

79411210
9LnrdLbp[ hbur luq{urb
fu nphp4umtl ur!urtr 6ur nru tnrBrnLtrtrbn

rJu 4nurd 960000 960( j00
1

601 31 1 00 fl Lqhn purqh n fu ur 4p drutr 6urnurl n Lp1nrLL bp uu rlnurd 960000 960'i00 1

63521200 FbnLbpI qhn [u u4p dulr ]runu1 n rplnrtrtrbp ttu 4nud 250000 25r-r 00 1

90400000 I n1n rlnr h bm luq rlur8-6unu4 nLplnrLtrbp rJu 4nurd 400000 400i'00 1

79631200 UZluumutlhgObpfi qbpuqurnpuuurrdur0
6tlnurtnLarnr00bn

r.Ju 4nurd 660000 66n '\00 1

50321s00
Zulftu\urpq2ur1|rb urhlulifr\ur1fr
uq uruurplriurlr burnurl nrplnth

r.Ju +nud
400000 40C|00 1

s0311250

.rIuJm6bu uJhrlI nq uuppbpfr
u.luhqu:0rIu0 6tunr.uln rp1nr00bp ttu hurm 3500 35 C]-'30 100

54110000 <Dnumu;fr0 6tunLu;nrplnr00bp r.tu nnuid 420000 420(,00 ,l

66111200 nLu0Urir th0 6untu rnrarn r0 0bn rJu nnurrl 12000 1,,C't0 1

71241200

burfu uqdbpfr u1umpurumnLd, 6u[uubpI
qtJuihurmnLLI ttu qnud 600000 60 f',00 1

73432700 qnllph qhurhulnr.Iurh burnrulmplntLhhp r.tu 4nurd r40000 14ili 00 'I

50731100

uunururtu,lutujnu uulnpunh

{bpu0npnqdu0 tr quhqu.r0dur0
6unur1nLp1nr00bp

uu 4nurd 400000 400f i)0 1

50721100 gbnnrgdru 0 hurdtuLlupqbpfr tfuuppn L d rJu nnud 260000 26,, ,00
1

79100000 ftpullupru0ru!ru0 6unu1n rpln L00bp ttu nnurrJ 300000 3(,30 1

50531140 .hnpdurp0 0nrp1u0 durnulnrBlnr0 0bp uu nnurJ 250000 2', l0 1

pt 4u rlbh p 6runrul n rp; n rhbbp 67,64.,,400

ptr4udbbp 144,, i ,,632
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